Declaration of Results Fauldhouse and the Breich Valley Ward 04/05/2012

I declare that the result of the election in the Fauldhouse and the Breich Valley Ward is as follows.

There are 3 councillors to be elected.

The percentage poll was 45.77%. There were 5144 valid papers and 106 rejected papers.

The quota of votes for a candidate to be elected is 1287.

The first preference votes received by each of the candidates and the stage at which any candidate was elected is as:

Name of Candidate	Number of First Preference Votes	Stage at which candidate has been elected
David DODDS	1713	1
Garry KNOX	904	
Alastair LOWRIE	197	
Greg MCCARRA	896	6
Cathy MULDOON	902	4
Jim WARNOCK	532	

Of the total ballot papers, the following were rejected as void and not counted on account of:

Adjudication Reject Reason	Number
Which does not bear a unique identifying mark in a form that is capable of being read by electronic means;	0
On which the figure "1" standing alone is not placed so as to indicate a first preference for some candidate	3
On which the figure "1" standing alone indicating a first preference is set opposite the name of more than one candidate	11
On which anything is written or marked by which the voter can be identified except the printed number and other unique identifying mark on the back	0
Which is unmarked or void for uncertainty	92
Total number of ballot papers rejected	106

Signature Returning Officer Our Ru Me

Date: 4th May 2012

Election Results Fauldhouse and the Breich Valley Ward 04/05/2012

Total Number of Ballots Received	5250
Total Number of Valid Votes	5144
Number of Vacancies	3
Quota	1287

Name of Candidate	Party	Stage 1 1st pref votes	Surplus of David DODDS	Stage 2	Exclusion of Alastair LOWRIE	Stage 3
David DODDS	Scottish Labour Party	1713	-426.00000	1287.00000	0.00000	1287.00000
Garry KNOX	Scottish National Party (SNP)	904	25.61404	929.61404	19.49736	949.11140
Alastair LOWRIE	Scottish Conservative and Unionist	197	5.47096	202.47096	-202.47096	0.00000
Greg MCCARRA	Scottish National Party (SNP)	896	9.69852	905.69852	25.49736	931.19588
Cathy MULDOON	Scottish Labour Party	902	333.72856	1235.72856	28.73548	1264.46404
Jim WARNOCK	Action To Save St.John's Hospital	532	25.36536	557.36536	90.24340	647.60876
Non-transferable votes		0	26.12256	26.12256	38.49736	64.61992
Total		5144	=	5144.00000	=	5144.00000

Election Results Fauldhouse and the Breich Valley Ward 04/05/2012

Total Number of Ballots Received	5250
Total Number of Valid Votes	5144
Number of Vacancies	3
Quota	1287

Name of Candidate	Party	Exclusion of Jim WARNOCK	Stage 4	Surplus of Cathy MULDOON	Stage 5	Exclusion of Garry KNOX
David DODDS	Scottish Labour Party	0.00000	1287.00000	0.00000	1287.00000	0.00000
Garry KNOX	Scottish National Party (SNP)	74.49208	1023.60348	15.59328	1039.19676	-1039.19676
Alastair LOWRIE	Scottish Conservative and Unionist					
Greg MCCARRA	Scottish National Party (SNP)	132.48680	1063.68268	21.82019	1085.50287	914.32850
Cathy MULDOON	Scottish Labour Party	159.17476	1423.63880	-136.63880	1287.00000	0.00000
Jim WARNOCK	Action To Save St.John's Hospital	-647.60876	0.00000			
Non-transferable votes		281.45512	346.07504	99.22533	445.30037	124.86826
Total		=	5144.00000	=	5144.00000	=

Election Results Fauldhouse and the Breich Valley Ward 04/05/2012

Total Number of Ballots Received	5250
Total Number of Valid Votes	5144
Number of Vacancies	3
Quota	1287

Name of Candidate	Party	Stage 6	
David DODDS	Scottish Labour Party	1287.00000	Elected
Garry KNOX	Scottish National Party (SNP)	0.00000	
Alastair LOWRIE	Scottish Conservative and Unionist		
Greg MCCARRA	Scottish National Party (SNP)	1999.83137	Elected
Cathy MULDOON	Scottish Labour Party	1287.00000	Elected
Jim WARNOCK	Action To Save St.John's Hospital		
Non-transferable votes		570.16863	
Total		5144.00000	

Transfers Report Fauldhouse and the Breich Valley Ward 04/05/2012

Valid Ballots	5144
Positions to be Filled	3
Quota	1287

Stage 1	First Preferences
David DODDS	1713
Garry KNOX	904
Alastair LOWRIE	197
Greg MCCARRA	896
Cathy MULDOON	902
Jim WARNOCK	532

David DODDS Elected with 1713 over quota 1287

Stage 2 - Surplus of David DODDS			
Action	Total Votes	Transfer Weight	Transfer Value
Transfer to Garry KNOX	103	0.24868	25.61404
Transfer to Alastair LOWRIE	22	0.24868	5.47096
Transfer to Greg MCCARRA	39	0.24868	9.69852
Transfer to Cathy MULDOON	1342	0.24868	333.72856
Transfer to Jim WARNOCK	102	0.24868	25.36536
Non-transferables	26.12256		

Stage 3 - Exclusion of Alastair LOWRIE	1		
Action	Total Votes	Transfer Weight	Transfer Value
Transfer to Garry KNOX	2	0.24868	0.49736
Transfer to Garry KNOX	19	1	19
Transfer to Greg MCCARRA	25	1	25
Transfer to Greg MCCARRA	2	0.24868	0.49736
Transfer to Cathy MULDOON	11	0.24868	2.73548
Transfer to Cathy MULDOON	26	1	26
Transfer to Jim WARNOCK	89	1	89
Transfer to Jim WARNOCK	5	0.24868	1.2434
Non-transferables	38.49736		

Stage 4 - Exclusion of Jim WARNOCK			
Action	Total Votes	Transfer Weight	Transfer Value
Transfer to Garry KNOX	6	0.24868	1.49208
Transfer to Garry KNOX	73	1	73
Transfer to Greg MCCARRA	130	1	130
Transfer to Greg MCCARRA	10	0.24868	2.4868

Transfer to Cathy MULDOON	57	0.24868	14.17476
Transfer to Cathy MULDOON	145	1	145
Non-transferables	281.45512		

Stage 5 - Surplus of Cathy MULDOON

otage of carpiae of catrif mezboott			
Action	Total Votes	Transfer Weight	Transfer Value
Transfer to Garry KNOX	195	0.02386	4.6527
Transfer to Garry KNOX	114	0.09597	10.94058
Transfer to Greg MCCARRA	203	0.09597	19.48191
Transfer to Greg MCCARRA	98	0.02386	2.33828
Non-transferables	99.22533		-

Stage 6 - Exclusion of Garry KNOX			
Action	Total Votes	Transfer Weight	Transfer Value
Transfer to Greg MCCARRA	145	0.02386	3.4597
Transfer to Greg MCCARRA	88	0.09597	8.44536
Transfer to Greg MCCARRA	58	0.24868	14.42344
Transfer to Greg MCCARRA	888	1	888
Non-transferables	124.86826		

Preference Summary Report Fauldhouse and the Breich Valley Ward 04/05/2012

Total Number of	
Valid Ballots	5144
Quota	1287
Percentage Turnout	45.77

	Number of 1st preference votes for		Number of 3rd preference votes for			Number of 6th preference votes for
Candidate Name	each candidate	each candidate	each candidate	each candidate	each candidate	each candidate
David DODDS	1713	885	364	147	72	35
Garry KNOX	904	908	364	192	131	31
Alastair LOWRIE	197	106	169	134	97	339
Greg MCCARRA	896	977	340	190	111	68
Cathy MULDOON	902	1506	350	200	104	27
Jim WARNOCK	532	389	1146	119	200	94

LIVE ELECTIONS MAY 2012 First Preference By Ballot Box Report Fauldhouse and the Breich Valley Ward 04/05/2012

Numbers of Preferences allocated to)
each Candidate	

BOX 077 FBV	1st	2nd	3rd	4th	5th	6th
David DODDS	32	55	18	3	9	1
Garry KNOX	32	54	17	14	4	1
Alastair LOWRIE	8	3	4	8	5	17
Greg MCCARRA	61	39	19	13	6	3
Cathy MULDOON	66	31	14	10	1	1
Jim WARNOCK	18	22	46	3	8	6
BOX 078 FBV	1st	2nd	3rd	4th	5th	6th
David DODDS	36	65	16	5	3	2
Garry KNOX	21	64	11	11	9	2
Alastair LOWRIE	3	4	5	8	6	9
Greg MCCARRA	68	28	13	7	4	6
Cathy MULDOON	72	36	13	7	4	1
Jim WARNOCK	26	11	52	5	8	8
BOX 079 FBV	1st	2nd	3rd	4th	5th	6th
David DODDS	40	63	20	11	8	2
Garry KNOX	24	91	25	11	3	0
Alastair LOWRIE	7	14	14	7	4	10
Greg MCCARRA	113	29	15	8	3	1
Cathy MULDOON	72	53	19	11	3	4
Jim WARNOCK	58	32	61	8	5	2
BOX 080 FBV	1st	2nd	3rd	4th	5th	6th
David DODDS	64	62	31	9	11	5
Garry KNOX	31	90	28	19	5	3
Alastair LOWRIE	12	5	16	11	10	26
Greg MCCARRA	99	45	30	8	9	4
Cathy MULDOON	73	67	25	14	7	3
Jim WARNOCK	63	42	68	8	19	10
BOX 081 FBV	1st	2nd	3rd	4th	5th	6th
David DODDS	45	91	27	15	5	2
Garry KNOX	21	83	31	9	12	5
Alastair LOWRIE	22	6	6	5	5	19
Greg MCCARRA	88	41	25	15	7	2
Cathy MULDOON	110	50	29	8	5	0
Jim WARNOCK	65	44	94	11	11	3
BOX 082/83 FBV	1st	2nd	3rd	4th	5th	6th
David DODDS	87	130	37	19	3	4
Garry KNOX	75	111	28	19	13	2
Alastair LOWRIE	17	4	18	10	13	30
Greg MCCARRA	109	83	32	14	4	8
Cathy MULDOON	134	91	30	14	8	2
Jim WARNOCK	61	23	82	13	23	8
BOX 084 FBV	1st	2nd	3rd	4th	5th	6th
David DODDS	217	25	16	4	2	3
Garry KNOX	74	32	24	9	13	4
Alastair LOWRIE	16	10	10	13	5	20
Greg MCCARRA	13	64	31	16	8	8
5						
Cathy MULDOON	14	165	26	14	11	2

BOX 085 FBV	1st	2nd	3rd	4th	5th	6th
David DODDS	165	29	17	4	1	1
Garry KNOX	57	19	20	15	3	0
Alastair LOWRIE	9	9	3	2	11	20
Greg MCCARRA	10	51	17	13	9	4
Cathy MULDOON	18	130	15	10	6	1
Jim WARNOCK	20	15	55	2	9	9
BOX 086 FBV	1st	2nd	3rd	4th	5th	6th
David DODDS	239	21	21	6	3	1
Garry KNOX	100	42	17	19	7	3
Alastair LOWRIE	12	8	22	8	6	22
Greg MCCARRA	22	95	31	12	10	6
Cathy MULDOON	18	187	23	18	8	4
Jim WARNOCK	17	26	70	14	13	5
BOX 087 FBV	1st	2nd	3rd	4th	5th	6th
David DODDS	210	21	15	3	1	0
Garry KNOX	63	26	27	8	5	1
Alastair LOWRIE	1	4	5	9	3	16
Greg MCCARRA	15	62	18	18	10	1
Cathy MULDOON	15	181	13	9	3	1
Jim WARNOCK	16	12	53	2	11	7
BOX 088 FBV	1st	2nd	3rd	4th	5th	6th
David DODDS	87	23	20	9	2	0
Garry KNOX	64	26	14	5	3	1
Alastair LOWRIE	11	2	8	5	5	19
Greg MCCARRA	14	67	15	7	3	2
Cathy MULDOON	15	67	19	14	7	0
Jim WARNOCK	16	8	33	6	14	7
BOX 089 FBV	1st	2nd	3rd	4th	5th	6th
David DODDS	78	47	15	10	1	0
Garry KNOX	66	32	12	6	8	3
Alastair LOWRIE	6	7	9	7	6	18
Greg MCCARRA	24	63	7	14	7	2
Cathy MULDOON	48	66	20	14	3	1
Jim WARNOCK	17	12	71	3	13	5
BOX 090 FBV	1st	2nd	3rd	4th	5th	6th
David DODDS	72	54	22	10	4	2
Garry KNOX	84	23	25	9	2	2
Alastair LOWRIE	14	4	7	8	2	26
Greg MCCARRA	20	88	17	8	7	2
Cathy MULDOON	48	60	25	11	9	0
Jim WARNOCK	27	23	54	6	15	2
BOX PV FBV001/2/3	1st	2nd	3rd	4th	5th	6th
David DODDS	341	199	89	39	19	12
Garry KNOX	192	215	85	38	44	4
Alastair LOWRIE	59	26	42	33	16	87
Greg MCCARRA	240	222	70	37	24	19
Cathy MULDOON	199	322	79	46	29	7
Jim WARNOCK	107	83	330	27	40	17

NB The STV election results cannot be calculated from these numbers.